

SOUTH SAN ANTONIO INDEPENDENT SCHOOL DISTRICT

Agenda Item Summary

Meeting Date: July 19, 2023

Agenda Section: Consent

Agenda Item Title: McGraw Hill Tx Social Studies Text, Student Learning Center, and professional development for 2023-2024 school year.

From:. Millicent Marcha, Chief Academic Officer

Additional Presenters if Applicable: Vanessa Dominguez, Director of Teaching and Learning

Description: McGraw Hill is a digital resource that provides students with comprehensive coverage of the Texas Essential Knowledge and Skill for Social Studies. The program engages students with interactive resources and compelling social studies content by using rigorous, differentiated, and comprehensive use of the teacher dashboard where teachers will be able to manage and organize their classroom effectively to prepare students for the future.

Historical Data: McGraw Hill has been used in the past as a supplemental resource adding rich interactive materials, vocabulary support, hands on activities, and adaptive technology.

Recommendation: Approve the McGraw Hill text and Student Learning Center

Purchasing Director and Approval Date:

Funding Budget Code and Amount: Budget Code: IMA, \$63,359.55

Mc Graw Hill

Because learning changes everything.

QUOTE PREPARED FOR:

South San Antonio Isd SPECIAL ED DEPT SAN ANTONIO, TX 78242 ACCOUNT NUMBER: 401622

CONTACT:

Monica Villanueva mvillanueva@southsanisd.net (210) 977-7000

SUBSCRIPTION/DIGITAL CONTACT:

Monica Villanueva mvillanueva@southsanisd.net (210) 977-7000

SALES REP INFORMATION:

Liz Flores liz.flores@mheducation.com

Section Summary		Value of All Materials	Free Materials	Product Subtotal
Tx Social Studies-1yr digital		\$64,821.69	(\$1,462.14)	\$63,359.55
	PRODUCT TOTAL*	\$64,821.69	(\$1,462.14)	\$63,359.55
	ESTIMATED S&H**			\$0.00
	ESTIMATED TAX**			\$0.00
	GRAND TOTAL*			\$63,359.55

* Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

Comments:

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 06/14/2023 SRICH-06142023075339-001 ACCOUNT NAME: South San Antonio Isd ACCOUNT #: 401622 EXPIRATION DATE: 07/29/2023 PAGE #: 1



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Tx Social Studies-1yr digital					
WORLD CULTURES & GEOGRAPHY TEXAS STUDENT LEARNING CENTER W/LEARNSMART 1YR BUNDLE	978-0-02-133161-1	775	\$12.99	\$0.00	\$10,067.25
WORLD CULTURES AND GEOGRAPHY TEXAS ONLINE TEACHER CENTER 1YR SUBSC	978-0-02-137511-0	12	\$12.99	\$155.88	*Free Materials
WORLD CULTURES GEOGRAPHY TEXAS LEARNSMART TEACHER EDITION 1 YEAR SUBSCRIPTION	978-0-02-144589-9	12	\$3.99	\$47.88	*Free Materials
TEXAS HISTORY STUDENT LEARNING CENTER WITH LEARNSMART 1 YEAR BUNDLE	978-0-02-131031-9	729	\$12.99	\$0.00	\$9,469.71
TEXAS HISTORY 2016 TEACHER CENTER (DIGITAL ONLY) 1 YEAR SUBSCRIPTION	978-0-02-136048-2	11	\$12.99	\$142.89	*Free Materials
TEXAS HISTORY LEARNSMART TEACHER EDITION 1 YEAR SUBSCRIPTION	978-0-02-141964-7	11	\$3.99	\$43.89	*Free Materials
UNITED STATES HISTORY T/1877 TEXAS STUDENT LEARNING CENTER W/LEARNSMART 1YR BNDL	978-0-02-130426-4	707	\$12.99	\$0.00	\$9,183.93
UNITED STATES HISTORY TO 1877 TEXAS TEACHER LESSON CENTER 1 YR SUBSC	978-0-07-659819-9	11	\$12.99	\$142.89	*Free Materials
UNITED STATES HISTORY TO 1877 TEXAS LEARNSMART TEACHER ED 1 YR SUBSC	978-0-02-141537-3	11	\$3.99	\$43.89	*Free Materials
		_			
WORLD GEOGRAPHY TEXAS STUDENT LEARNING CENTER W/LEARNSMART 1 YEAR BUNDLE	978-0-02-131609-0	736	\$12.99	\$0.00	\$9,560.64
WORLD GEOGRAPHY TEACHER LESSON CENTER 1 YEAR SUBSCRIPTION	978-0-02-143349-0	11	\$12.99	\$142.89	*Free Materials
WORLD GEOGRAPHY TEXAS LEARNSMART TEACHER EDITION 1 YEAR SUBSCRIPTION	978-0-02-144597-4	11	\$3.99	\$43.89	*Free Materials
					1
WORLD HISTORY TEXAS STUDENT LEARNING CENTER W/LEARNSMART 1 YEAR BUNDLE	978-0-02-130626-8	495	\$12.99	\$0.00	\$6,430.05
WORLD HISTORY TEXAS TEACHER CENTER 1 YEAR SUBSCRIPTION	978-0-07-660606-1	8	\$12.99	\$103.92	*Free Materials
WORLD HISTORY TEXAS LEARNSMART TEACHER EDITION 1 YEAR SUBSCRIPTION	978-0-02-144610-0	8	\$3.99	\$31.92	*Free Materials
	1				
UNITED STATES HISTORY SINCE 1877 TEXAS STUDENT LEARNING CENTER W/LRNSMRT 1Y BNDL	978-0-02-131381-5	417	\$12.99	\$0.00	\$5,416.83

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 06/14/2023 QUOTE NUMBER: SRICH-06142023075339-001

ACCOUNT NAME: South San Antonio Isd ACCOUNT #: 401622



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
UNITED STATES HISTORY SINCE 1877 TEXAS TEACHER CENTER 1YR SUB	978-0-07-660857-7	6	\$12.99	\$77.94	*Free Materials
UNITED STATES HISTORY SINCE 1877 TEXAS LEARNSMART TEACHER ED 1 YR SUBSC	978-0-02-139672-6	6	\$3.99	\$23.94	*Free Materials
		-	-	-	
UNITED STATES GOVERNMENT TEXAS STUDENT LEARNING CENTER 1 YEAR BUNDLE COMPONENT	978-0-02-135791-8	488	\$12.99	\$0.00	\$6,339.12
UNITED STATES GOVERNMENT TEXAS TEACHER LESSON CENTER ' YEAR BUNDLE COMPONENT	978-0-02-135792-5	8	\$18.99	\$151.92	*Free Materials
					1
ECONOMICS TEXAS STUDENT LEARNING CENTER 1 YEAR SUBSCRIPTION	978-0-02-145166-1	230	\$12.99	\$0.00	\$2,987.70
ECONOMICS TEXAS TEACHER LESSON CENTER 1 YEAR SUBSCRIPTION	978-0-02-145663-5	4	\$12.99	\$51.96	*Free Materials
	1				
PSYCHOLOGY STUDENT LEARNING CENTER, 1-YEAR SUBSCRIPTION	978-0-07-664076-8	108	\$17.43	\$0.00	\$1,882.44
PSYCHOLOGY, TEACHER LESSON CENTER, 1-YEAR SUBSCRIPTION	978-0-07-664080-5	2	\$64.11	\$128.22	*Free Materials
SOCIOLOGY STUDENT LEARNING CENTER, 1-YEAR SUBSCRIPTION	978-0-07-664064-5	116	\$17.43	\$0.00	\$2,021.88
SOCIOLOGY TEACHER LESSON CENTER, 1-YR SUBSCRIPTION	978-0-07-664066-9	2	\$64.11	\$128.22	*Free Materials
	Tx Social St	udies-1yr d	igital Subtotal:	\$1,462.14	\$63,359.55

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 06/14/2023 SRICH-06142023075339-001 ACCOUNT NAME: South San Antonio Isd ACCOUNT #: 401622

EXPIRATION DATE: 07/29/2023 PAGE #: 3



Because learning changes everything.

QUOTE PREPARED FOR:

South San Antonio Isd SPECIAL ED DEPT SAN ANTONIO, TX 78242 ACCOUNT NUMBER: 401622

CONTACT:

Monica Villanueva mvillanueva@southsanisd.net (210) 977-7000

SUBSCRIPTION/DIGITAL CONTACT:

Monica Villanueva mvillanueva@southsanisd.net (210) 977-7000

Comments:

Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mhecoast2coast.com).

School Purchase Order Number:

Name of School Official (Please Print)

Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 06/14/2023 SRICH-06142023075339-001 ACCOUNT NAME: South San Antonio Isd ACCOUNT #: 401622 EXPIRATION DATE: 07/29/2023 PAGE #: 4

GRAND TOTAL	\$63,359.55
ESTIMATED TAX**	\$0.00
ESTIMATED SHIPPING & HANDLING**	\$0.00
PRODUCT TOTAL*	\$63,359.55
FREE MATERIALS	(\$1,462.14)
VALUE OF ALL MATERIALS	\$64,821.69